

**Vendor Ranking** 

Call Order: 003

Page 1 of 1

03250911 Letting:

September 11, 2025 11:00

Contract:

E3Y91-R0

District 3 District:

Counties: DIST/ST-WIDE, LEON

Fed Aid No: N/A

Contract Time: 12/31/26 COMPLETION DATE

AM

**Project(s):** 42215127292 (\*)

Contract Desc: MIDWAY OPS ROUTINE MAINT - LEON COUNTY MOWING

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	AMG OPERATIONS, LLC.	Responsive	Winning bid	\$698,712.86	100.00%
2	FLORIDA RIGHT OF WAY CORPORATION	Responsive	Non-Winning Bid	\$769,705.90	110.16%
3	COLLINS LAND SERVICES, LLC	Responsive	Non-Winning Bid	\$846,526.25	121.16%
4	ROTOLO CONSULTANTS, INC.	Responsive	Non-Winning Bid	\$848,921.65	121.50%
5	CGI LAND SERVICES LLC	Responsive	Non-Winning Bid	\$858,388.17	122.85%
6	ULTIMATE ASSET RECOVERY GROUP L	Responsive	Non-Winning Bid	\$935,881.92	133.94%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





#### **Tabulation of Bids**

Page 1 of 4

Letting: 03250911 September 11, 2025 Call Order: 003 Contract: E3Y91-R0

District: District 3 DIST/ST-WIDE, LEON Fed Aid No: N/A Counties:

Contract Time: 12/31/26 COMPLETION DATE **Project(s):** 42215127292 (\*)

Contract Descr: MIDWAY OPS ROUTINE MAINT - LEON COUNTY MOWING

The work under this Site Specific, Work Document Driven Contract in Leon County, consists of routine mowing of grassed/vegetated roadside areas in conjunction with the pickup, removal, and disposal of litter and debris. Mobilization and Maintenance of Traffic are incidental to the pay items listed.

	No / Item ID	Alternate	Quantity Units	(1) AMG OPER	ATIONS, LLC.	(2) FLORIDA R CORPOI			AND SERVICES, LC
	dicates item is bi	d as Lump Sum	• • • • • • • • • • • • • • • • • • •	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (	LARGE MACH	IINE MOWING (AC	;				
0005 LITTER	E107 1 1 REMOVAL		28,478.660 AC	11.75000	334,624.26	15.00000	427,179.90	12.50000	355,983.25
0010 MOWIN	E107 2 1 NG (LARGE MA	ACHINE)	5,606.100 AC	29.00000	162,576.90	25.00000	140,152.50	50.00000	280,305.00
0015 MOWIN	E107 2 2 NG (SLOPE)		584.100 AC	100.00000	58,410.00	125.00000	73,012.50	150.00000	87,615.00
0020 MOWIN	E107 2 3 NG (INTERMED	DIATE MACHINE	925.560 ) AC	100.00000	92,556.00	100.00000	92,556.00	75.00000	69,417.00
0025 MOWIN	E107 2 4 NG (SMALL MA	CHINE)	313.380 AC	95.00000	29,771.10	100.00000	31,338.00	100.00000	31,338.00
0030 WEED	E107 2 5 CONTROL, MA	ANUAL	218.680 AC	95.00000	20,774.60	25.00000	5,467.00	100.00000	21,868.00
	0001 LARG	E MACHINE Sec	ction Totals:		\$698,712.86		\$769,705.90		\$846,526.25

**MOWING (AC)** 



09/15/2025

# **Tabulation of Bids**

Page 2 of 4

Letting:	03250911	September 11,	2025 <b>C</b>	all Order: 003		Contract:	E3Y91-R0	
Line No / Item Item Descripti		e Quantity Units	(1) AMG OPE	RATIONS, LLC.		RIGHT OF WAY DRATION	(3) COLLINS	LAND SERVICES, LLC
( ) indicates item is bid as Lump Sum			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	Contract G	rand Totals:	\$698,712.86		\$769,705.90		846,526.25	





# **Tabulation of Bids**

Page 3 of 4

Lettin	ıg:	03250911	September 11,	2025 <b>Cal</b>	l Order: 003		Contract:	E3Y91-R0	
Line No / Item ID Alternate Item Description		te Quantity Units	(4) ROTOLO CONSULTANTS, INC.		(5) CGI LAND SERVICES LLC		(6) ULTIMATE ASSET RECOVERY GROUP L		
	•	bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION	: 0001	(LARGE MACH	IINE MOWING (AC	;				
0005 LITTER	E107 1 1 R REMOVAL		28,478.660 AC	9.54300	271,771.85	19.50000	555,333.87	10.00000	284,786.60
0010 MOWIN	E107 2 1 NG (LARGE M	(ACHINE)	5,606.100 AC	30.59400	171,513.02	25.00000	140,152.50	58.67000	328,909.89
0015 MOWIN	E107 2 2 NG (SLOPE)		584.100 AC	95.98950	56,067.47	115.00000	67,171.50	176.02000	102,813.28
0020 MOWIN	E107 2 3 NG (INTERME	EDIATE MACHII	925.560 NE) AC	33.61400	31,111.77	50.00000	46,278.00	146.69000	135,770.40
0025 MOWIN	E107 2 4 NG (SMALL M	IACHINE)	313.380 AC	54.40630	17,049.85	95.00000	29,771.10	205.36000	64,355.72
0030 WEED	E107 2 5 CONTROL, M	//ANUAL	218.680 AC	1,378.30480	301,407.69	90.00000	19,681.20	88.01000	19,246.03
		GE MACHINE S MOWING (AC)	Section Totals:		\$848,921.65 <sup>°</sup>		\$858,388.17		\$935,881.92
		Contract G	erand Totals:		\$848,921.65		\$858,388.17		935,881.92



09/15/2025

### **Tabulation of Bids**

Page 4 of 4

**Letting:** 03250911

September 11, 2025

Call Order: 003

Contract:

E3Y91-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.